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QUESTION 1

Which two options can you use to list Oracle Database 12c patches by using Queryable Patch Inventory? 

A. select patch from vSoption where opatch_data=\\' 333333\\' ; 

B. select xmltransform(dbms_qopatch.get_opatch_data(3333333), dbms_qopatch.GET_OPATCH_XSLT ()) from dual 

C. select opatch from vSpatchsets where opatch_number = \\'333333\\'; 

D. opatchlsinventory -xml 

Correct Answer: CD 

Reference:http://www.oracle.com/technetwork/pt/articles/sql/queryable-patch-inventory-12c- 2098576ptb.html 

 

QUESTION 2

Which statement about the Oracle Advanced Security Data Redaction feature is true? 

A. It transparently encrypts data at rest in Oracle databases. 

B. It securely manages encryption keys. 

C. It protects against theft or loss of disks and backups. 

D. It prevents OS users from inspecting tablespace files. 

E. It limits the exposure of sensitive data in applications. 

F. It alters data in caches, buffers, and persistent storage. 

G. It impacts operational activities such as backup and restore, upgrade and patch, and replication. 

Correct Answer: E 

Redacting Sensitive Data for Display Data Redaction provides selective, on-the-fly redaction of sensitive data in query
results prior to display by applications so that unauthorized users cannot view the sensitive data. It enables consistent
redaction of database columns across application modules accessing the same data. Data Redaction minimizes
changes to applications because it does not alter actual data in internal database buffers, caches, or storage, and it
preserves the original data type and formatting when transformed data is returned to the application. Data Redaction
has no impact on database operational activities such as backup and restore, upgrade and patch, and high availability
clusters. 

Reference: Oracle Advanced Security, 12c, Oracle Data Sheet 

 

QUESTION 3

The session of user SCOTT receives the following error after executing an UPDATE command on the 

EMP table: 
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ERROR at line 1: 

ORA-00060: deadlock detected while waiting for resource 

You find out that a session opened by user JIM has a transaction that caused the deadlock. Which two 

statements are true about SCOTT\\'s session in this scenario? 

A. The session is terminated after receiving the error and JIM can continue with his transaction. 

B. SCOTT should perform a COMMIT or ROLLBACK to allow JIM to continue with his transaction. 

C. The session is rolled back after receiving the error and JIM can continue with his transaction. 

D. SCOTT has to re-execute the last command in the transaction after he commits the transaction. 

Correct Answer: AD 

 

 

QUESTION 4

Which two statements represent where Oracle Net must reside? 

A. Only on the client for traditional client/server applications 

B. Only on the database server for web-based applications 

C. On both the web server and database server for web-based applications 

D. On both the client and database server for traditional client/server applications. 

Correct Answer: BD 

 

 

QUESTION 5

Identify three outcomes of using the Oracle Multitenant option in Oracle Database 12c. 

A. less instance overhead 

B. increased storage cost 

C. minor application changes 

D. fast and easy provisioning 

E. same time needed for patching and upgrade as in the previous release 

F. isolation 

Correct Answer: ADE 
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